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Precalculus

REDEMPTION [Inverse Matrices]

Name___________________________________
©L c2B0H1a7B hKpuctcaa NSPoYf[tvwzaWrqeV DL[LTCu.h a vAmlKlo `rpi`g_hEtIsG _roepsKeOrevHeAd\.

Solve each equation.

1)  2B = 
0 18

8 16
2)  

1 0

3 -5
C = 

-3

11

Solve each system of linear equations using inverses.

3)  4x + 3y = 12
-4x + 5y = 20

4)  -x + 4y - 3z = 7
-3y - z = -7
-x + y - z = 3
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Precalculus

REDEMPTION [Inverse Matrices]

Name___________________________________
©D M2Y0J1i7b YKBumtta` xSJotfjtdwyagrNe\ [LuLACE.v R ZAOlilF LrXisgThDtAsU \rsegsweJrZvQeGdY.

Solve each equation.

1)  2B = 
0 18

8 16

0 9

4 8

2)  
1 0

3 -5
C = 

-3

11

-3

-4

Solve each system of linear equations using inverses.

3)  4x + 3y = 12
-4x + 5y = 20

(0, 4)

4)  -x + 4y - 3z = 7
-3y - z = -7
-x + y - z = 3

(-2, 2, 1)


